CORRIGENDUM

Vladimir Skalsky, ‘A Note on the Problem of Choosing a Model of the Universe, IV,
Astrophys. Space Sci. 176, 313-322, 1991.

(1) On page 318 in line 1 above has to be: from Equation (6).

(2) On page 318 in line 4 below has to be: p = —3&(0 < < #,,,)-
(3) On page 320 in line 14 above has to be: [z, Ip)-

(4) On page 320 in line 19 above has to be: p = —3e.

(5) On page 320 in line 20 above has to be: p = 1e.

(6) On page 320 in line 15 below has to be: ¢ + 3p = 0.

(7) On page 320 in line 1 below has to be: (¢, Lpnax)-

(8) On page 321 in line 5 above has to be: [ty ¢

max ]'
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